DGO

ORANGE GLOBAL OLYMPIAD

GRADE
MATHEMATICS 1

School Level Examination

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO
* All questions are compulsory.

* Read the instructions on the ANSWER SHEET and fill in your NAME,
CLASS and OTHER INFORMATION.

To mark your choice of answer by darkening the circles in the Answer
Sheet, use an HB Pencil only.

* You MUST record your answers on the ANSWER SHEET.

* There are 30 MULTIPLE CHOICE QUESTIONS. Use the information
provided to choose the BEST answer among the four possible options.

On your ANSWER SHEET fill in the oval that matches your answer.
* Marks are NOT deducted for incorrect answers.
* Return the Answer Sheet to the invigilator at the end of the examination.

* Write your Roll No. on the Question Paper too and take it home for future
reference.

*You are NOT allowed to use a calculator.

You may use a ruler and spare paper for rough work.



Section - A

(This section contains 5 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct.)

1. What is the missing number?

A

(C) 8 (D) 10
2. Who is at the fourth position from the right?
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Raman Geetika  Aryan Aman  Sanskriti
(A) Aman (B)  Aryan
(C) Geetika (D) Raman

3.  Which piece can be put together with the given shape to make a rectangle?
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(A) ’ ‘:] ®) )
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(C)

4. A cube looks like a in shape.
(A) Ball (B) Birthday cap
(C) Dice (D)  Coffee Mug

5. How many different shapes are used in the given figure?
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(A) 4 (B) 10
(C) 18 (D) 20
Section -B

(This section contains 25 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct.)

6. Which of the following abacuses represents the number 457?

(A) (B)
(C) (D)
7. 10 -4 is same as ? ___ + 3. What is the missing number?
A) 2 (B) 3
(C) 4 (D) 6
8. If 1 ———=> equals 1 unit, then the length of the blue rod is units.
C ]
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(A) 8 B) 9
(C) 14 (D) 15
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marbles but Samar has 20 marbles. How many marbles do they have altogether?

9. Aashishhas



(A) 20 (B) 42
(C) 38 (D) 40
10. Which of the following statements is CORRECT about the given figure?

(A) It has two squares. (B) It has three circles.

(C) It has four triangles. (D) It has two rectangles.

11. If H = 2 tens and ' = 2 tens 3 ones, what is 1 + ' = 7

(A) 3tens and 3 ones (B) Stens
(C) 4tens and 3 ones (D) 4tens

12.  How many units is the mass of the bottle?

H@
1@ stands for 1 unit

(A) 7 B) 9
(C) 13 (D) 15
13.  Which of the following is NOT correct match?
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15.

16.

17.
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The number of months in a year is

(A 7 (B) 12

(C) 30 (D) 31

Which of the following trees has apples more than 12 but less than 167?

(C)

The difference between the fourth and seventh balloons is

99599309

(C) 30 (D) 60

What will be the next shape?

(A) (B)
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18. The number 7 equals to is
(A)  Thirty (B) Thirty-eight
(C) Thirty-three (D) Thirty-nine

19. Kitty, the cat is sitting at 3rd point. Suddenly, it jumps 8 points forward and comes
back 3 points. What is the new position of the Kitty?
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(A) 3rd point (B) 8th point
(C) 11th point (D) 14th point
20. 7 ones more than 73 is
(A) 7 tens9ones (B) 8tens
(C) 7 tens 3ones (D) 6tens 6 ones

21. Choose correct addition sentence for the given total colour pencils.
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(A) 12+13=25 (B) 12+13=20
(C) 11+12=23 (D) 13+15=28

22. Which shape is NOT used to draw the given figure?



(A) Circle (B) Square
(C) Rectangle (D) Triangle

23. Arrange the numbers given in the box in increasing order.

(A) 20, 15,10,5 (B) 5,10, 15, 20

(C) 5,15, 10, 20 (D) 20,10, 15,5

The graph shows the number of star cutouts each student made. Answer questions
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Each <{:> represents 1 cutout

24. \Who made two more cutouts than Vivek?

(A) Namita (B) Sanskriti
(C) Mohit (D) Ruchi

25. How many less cutouts did Sanskriti make than Namita?
A 2 B) 3

(C) 4 (D) 6



26. Which of the pictures show the number that comes before 2 tens?
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(C)

(D)

27. Naina gave % 30 for a pair of socks and a handkerchief. Will she get any change

back?
(A)  Yes (B) No
(C) She’ll pay more (D) None of these

28. Which of the following is correct?



29. 48 is same as
(A) 3tens 8ones (B) 4 ones 18 tens

(C) 3tens 18 ones (D) 4tens 18 ones
30. Which route should Samiksha follow to reach her school as soon as possible?
Route 1
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(A) Route 1 (B) Route 2

(C) Route 3 (D) Route 4
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